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= 265,548 265,548 0

S 136,271 129,881 6,390

= 3,813,106 1,208,150 2,604,956

YEMY T4 491,080 491,200 A120

301 et2 a3 1,080 1,200 A 120

10 HAIAHIE &3 1,080 1,200 A 120

OL=AM nsEA 1,080,000& 1,080 1,200 A 120

LSS AZIHAAY 85,350 69,375 15,975

S 34,140 27,750 6,390

= 51,210 41,625 9,585

402 QI2E X201 M 85,350 69,375 15,975

S 34,140 27,750 6,390

= 51,210 41,625 9,585

01 QItXI=E X 85,350 69,375 15,975

OSHIEXZ ALY 85,350 69,375 15,975

—Y2AY DENLAY 85,350,0002! 85,350 69,375 15,975

= 34,140 27,750 6,390

= 51,210 41,625 9,585

ML EY K& 129,060 129,150 A0

301 et a3z 810 900 A90

10 BAFAIHI B A2 810 900 A0

OYSAH DIEA 810, 0002 810 900 A0

SAAIE SZIH 2,383,302 383,302 2,000,000

= 265,548 265,548 0

S 38,776 38,776 0

= 2,078,978 78,978 2,000,000
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01 A& HI 1,992,800 0 1,992,800
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< 38,776 38,776 0
= 78,978 78,978 0
01 IAXEE R 29,238 383,302 354,064
O=HI2 EAHY 0 354,064 354,064
—NEYLE AL SR(BSBH) 02 0 354,064 354,064
= 0 265,548 265,548
= 0 26,556 26,556
= 0 61,960 A61,960
02 BI2¢CH 8 AR H 354,064 0 354,064
O=HI B EAY 354,064 0 354,064
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442,580, 0002 +80/100 354,064 0 354,064
= 265,548 0 265,548
= 26,556 0 26,556
= 61,960 0 61,960
ZMNES XS 46,989 27,408 19,581
201 2Bre | 4,535 5,000 465
01 Ak 22l 4,535 5,000 1465
Oger+gt| 1,485 1,650 £ 165
—HHTAMLRERY 1,134,0002 1,134 1,260 A 126
—EMAMBEE Y L ME  351,0002 351 390 A39
ozl 2,700,000% 2,700 3,000 2300
202 01| 16,776 8,640 8,136
01 2048l 7,776 8,640 1864
OBMAR NG AR 7,776,000% 7,776 8,640 1864
04 =304l 9,000 0 9,000
OST= o9l WXO0HZ 3,000,009 +38 9,000 0 9,000
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3,000, 0002 *8% 50/ 100 12,000 0 12,000
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2 675, 157 685,600 £10,443
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01 At 22|t 17,719 19, 100 ~1,381
Osr4g| 6,840 7,600 AT60
—ASAA JIZE HE 1,350,000 1,350 1,500 A 150
—TH®e S #42 MX  990,0008 990 1,100 A110
—HYRERY M2 2,603,0002! 2,603 2,992 £299
~HAMARE P 1,134,0009 1,134 1,260 ~126
—SAEXI (M) P 360, 0002 360 400 A40
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oYz 8,100 9,000 A900
—dHYY AXE YXE 5,400,0002! 5,400 6,000 £600
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02 T2 15,162 15,960 AT98
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2,850,000 2,850 3,000 A150
202 04t 9,396 8,640 756
01 =L 01 bl 9,396 8,640 756
OJsYe NEH 9,396,0002 9,396 8,640 756
206 TH 2 | 166,820 175,600 £8,780
01 T2t 166,820 175,600 £8,780
OJtsgel owes N 133,000 140,000 A7,000
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—gos X2 9,500,000 9,500 10,000 A500
—E FADI K 9 35 4,750,000% 4,750 5,000 A250
OBSLHH A=Y 22l 14,250,0002! 14,250 15,000 AT50
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= 37,800 41,934 N4, 134
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301 YR AD 0 112,800 A112,800

| 0 56,400 56,400

= 0 28,200 28,200

2 0 28,200 28,200

12 JIEH2 A 0 112,800 A 112,800

OJIZ MY 0 112,800 A112,800

~ZEYHY 2% (U2IE) 0% 0 112,800 A 112,800

| 0 56,400 56,400

= 0 28,200 A28,200

2 0 28,200 28,200
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= 43,085 0 43,085
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eBIENE= 172,340 0 172,340

~TEYNS SH(USIH) 172,340,0008 172,340 0 172,340

| 86, 170 0 86,170

= 43,085 0 43,085

2 43,085 0 43,085

TSUHG W2 219,736 161,644 58,002

| 109,868 80,822 29,046

= 54,934 40,411 14,523

2 54,934 40,411 14,523

206 T 2l 0 161,644 A161,644

| 0 80,822 80,822

= 0 40,411 A40,411

2 0 40,411 A40,411

01 T2 HI 0 161,644 A 161,644

OJIZ MY 0 161,644 ~161,644
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= 0 40,411 A40,411
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= 30,691 30,691 0

= 93,809 91,889 1,920
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= 30,691 30,691 0

= 83,409 86,489 1,920
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—RzHay 150,0002 %22 * 128 3,600 1,680 1,920

ASANE &1 10,500 12,250 A1,750

= 4,200 4,900 AT00

= 6,300 7,350 A 1,050

402 QI2EXHR O 10,500 12,250 A1,750

= 4,200 4,900 AT00

= 6,300 7,350 A 1,050

01 QIRtRHER = 10,500 12,250 A1,750

OTHI B F A 10,500 12,250 A1,750

—=% ASAE &1 10,500,000 10,500 12,250 A1,750

= 4,200 4,900 ATO00

= 6,300 7,350 A 1,050

HACCP21 &4 &) XI 2 At 104,000 0 104,000

= 20,000 0 20,000

p 48,000 0 48,000

= 10,800 0 10,800

= 25,200 0 25,200

307 8I12+0| ® 20,000 0 20,000

= 20,000 0 20,000

02 BI2tZH AR = 20,000 0 20,000

O=HI B EAY 20,000 0 20,000

—HSBFAMSANFNEHN  20,000,0002 20,000 0 20,000

= 20,000 0 20,000
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p 48,000 0 48,000

= 10,800 0 10,800

= 25,200 0 25,200

01 QAR EE R 84,000 0 84,000
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| 48,000 0 48,000
= 10,800 0 10,800
= 25,200 0 25,200
HAIS =22l 612,250 202,800 409,450
= 412,000 0 412,000
= 51,500 51,500 0
= 148,750 151,300 A2,550
201 et A | 21,600 24,000 22,400
01 AR 2t eld| 21,600 24,000 A 2,400
OHAIS =S Hel 22 21,600, 000& 21,600 24,000 A2,400
206 M= Hl 2,850 3,000 2150
01 =8l 2,850 3,000 A 150
Oll2 Mzdl XA 2,850,000& 2,850 3,000 A 150
301 et a3 574,000 162,000 412,000
= 412,000 0 412,000
= 51,500 51,500 0
= 110,500 110,500 0
12 J|Et2 43 574,000 162,000 412,000
OZHIEZ ALY 515,000 103,000 412,000
—axNzE 243 XA 515,000,000& 515,000 103,000 412,000
= 412,000 0 412,000
= 51,500 51,500 0
= 51,500 51,500 0
A HAE H™Heldl 8XX& 36,000 18,000 18,000
= 9,000 4,500 4,500
= 27,000 13,500 13,500
402 QI2t X201 ™ 36,000 18,000 18,000
< 9,000 4,500 4,500
i 27,000 13,500 13,500
01 BIZt =8 = 36,000 18,000 18,000
OZHIEx= A 36,000 18,000 18,000
—HX HAMEXMI X K&
36,000,000& 36,000 18,000 18,000
= 9,000 4,500 4,500
i 27,000 13,500 13,500
StEs 3% |RAXNE 150,000 0 150,000
401 A& Bl 2 CHYI 150,000 0 150,000
01 A& HI 148,920 0 148,920
Ot & I8 AIEX& 148,920, 000& 148,920 0 148,920
03 A€ 2 01| 1,080 0 1,080
OsItE8 & JIgt AIEXI&
150,000,000 *0.72/100 1,080 0 1,080
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< 28,300 16,400 11,900
2 95,350 65,600 29,750
402 QI2b X0 & 123,650 82,000 41,650
[ 28,300 16,400 11,900
z 95,350 65,600 29,750
01 DIHRH=E X 123,650 82,000 41,650
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41,650,000 41,650 0 41,650
= 11,900 0 11,900
2 29,750 0 29,750
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402 QI 2bXH= 0| & 800,000 600,000 200,000
01 DItRH=E X 800,000 600,000 200,000
O=8XA A 2
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SHEEAS SXA 1,022,946 1,023,584 1638
202 04| 4,666 5,184 A518
01 2L 0iH| 4,666 5,184 A518
OE N X & 4,666,000 4,666 5,184 A518
301 YetEaa 1,080 1,200 A120
10 BAAHI B & 1,080 1,200 A 120
OE NI = 1,080,000 1,080 1,200 A120
2B J|BHEM A 512,320 460,500 51,820
201 Ler2 Y| 4,050 4,500 450
01 A2 22l 4,050 4,500 A450
OYsragH| 1,800 2,000 A200
—HAAR 1,134,0002 1,134 1,260 ~126
—=2ABX 360,000 360 400 A 40
—SUSHEAH 2227 RS
306,000 306 340 N34
ozl 2,250,000 2,250 2,500 A250
301 LErE A 810 900 A90
10 SALAIHI 2 A2 810 900 A90
OBt2=It ANHDS &AM 810,000 810 900 A90
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197,100 107,100 90,000
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59,400 27,000 32,400

s 6,750 6,750 0

= 52,650 20,250 32,400

59,400 27,000 32,400

= 6,750 6,750 0

= 52,650 20,250 32,400

59,400 27,000 32,400

59,400 27,000 32,400

HAl Alstl X2 59,400,000 59,400 27,000 32,400

= 6,750 6,750 0

= 52,650 20,250 32,400

,897,088 2,537,514 1,359,574

= 228,300 228,300 0

Il 129,293 123,518 5,775

S 382,103 596,390 N214,287

= ,157,392 ,589,306 1,568,086

Jls8g-4s 155,400 170,400 A 15,000

s 68,788 83,900 A15,112

= 86,612 86,500 112

155,400 170,400 A 15,000

= 68,788 83,900 A15,112

= 86,612 86,500 112

IR e S 155,400 170,400 A 15,000

OEHIEXAY 155,400 170,400 A 15,000
—XAEHS J&Me MY N2 (2EASH

X Jlgrxd) 65,000,000 65,000 80,000 A 15,000

S 24,888 40,000 A15,112

= 40,112 40,000 112

584,020 485,296 98,724

= 0 200,000 A200,000

= 584,020 285,296 298,724

201 L2 17,790 17,500 290

01 AtR2telH 8,670 7,900 770

Ogt=2H| 1,800 2,000 A 200

—HAARESLY 756,000 756 840 NB4

—SMSX T (M) 270,000& 270 300 A30
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02 B2 Y| 9,120 9,600 2480
oz282 2 MAl 4,731 4,980 ~249
—SEAE M4 HIIZ 4,731,002 4,731 4,980 ~249
OAN&RHIR Y] 4,389 4,620 ~231
—HEYy SNV FHIKK 4,389,002 4,389 4,620 £231
202 01| 5,832 6,480 £648
01 2401 4] 5,832 6,480 £648
OsMIlz XE YRFA 5,832,0002 5,832 6,480 1648
206 M 24| 14,250 15,000 NG
01 HZ bl 14,250 15,000 AT50
OMBH LSAME 44 HSTY 8,550,008 8,550 9,000 A450
Ossg 2 EZZN 7Y 5,700,0002! 5,700 6.000 A300
301 Yot a3 1,512 1,680 A 168
10 BARALHI 2413 1,512 1,680 ~168
SEES SnE g P 432,002 432 480 A48
O4 g R 84 1,080,0002 1,080 1,200 A120
401 Al & HI 22 THb| 300,000 256,524 43,476
=3 0 128,262 128,262
2 300,000 28,262 171,738
01 Al&H] 291,660 249,392 42,268
OSHI2EALY 0 249,392 A249,392
—SEXCIIBES AL NF(UBH HSA
ERNES 02! 0 249,392 £249,392
= 0 28,262 128,262
2 0 21,130 A121,130
OMBH HHSAIE &I 291,660,000% 291,660 0 291,660
02 22l 6. 180 5,285 805
OZHIREAMY 0 5,285 A5,285
—SENTIINES AL N (MZH HHSA
ERES 02! 0 5,285 ~5,285
OMTH HSAE &%
300,000, 0002 x2..06/ 100 6.180 0 6.180
03 A& S ChHl 2,160 1,847 313
OSHIREAMY 0 1,847 A1,847
—SENTIIMES AL N(MZH HHA
ERNES 02! 0 1,847 A1,847
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= 0 71,738 AT1,738
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01 KAt LSEH SHI 200,000 143,476 56,524
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—SENCOISEL AL KA (MR I
IR RL-tHII S) ] 0 143,476 A143,476
= 0 71,738 AT1,738
2 0 71,738 AT1,738
OMZH HHIIT P 200,000,0002! 200,000 0 200,000
=25 HelNe X2 1,765,700 498,100 1,267,600
=2 223,300 223,300 0
= 82,440 82,440 0
2 1,459,960 192,360 1,267,600
401 A2 HIL 2| 1,090,000 0 1,090,000
01 Al bl 1,083,052 0 1,083,052
OJNE2=BSUASAIL QMEE
993,700,00024 993,700 0 993,700
ONEREBSNASALBDAH0IS QAHE
S-0t2 Se SH Y+F &3 29,676,000 29,676 0 29,676
ONER=BESNASALBRAH0IS QAHE
S-Mm QNOIS QLWER 29,676,000 29,676 0 29,676
ONE2=DSNASALT2AF0IS QHE
-y IS 942 L FLZH|
15,000,0002! 15,000 0 15,000
ONERLBENASALBRAH0IS QHE
S-yw HROISHY U SLZ I
15,000,000 15,000 0 15,000
03 Al& S CHH| 6,948 0 6,948
OJNE2=BSUASAIL QMEE
1,000,000,0002! *0.63/ 100 6,300 0 6,300
OJNE2LBSNASALTR2AF0IS QHE
S-0I2 S SE Y4F A3
30,000,000 *1.08/100 324 0 324
ONER2=BSNASALTRAF0IS QHE
S-Mm QNOIS QHLWEH
30,000,000 *1.08/100 324 0 324
402 QI2HXH2 0| H 556,100 378,500 177,600
= 163,500 163,500 0
= 64,500 64,500 0
2 328,100 150,500 177,600
01 BIARERE 556,100 378,500 177,600
ONE2=TSNRASAIL | XA
222,000,000 *80/100 177,600 0 177,600
DRI 77,798 69,548 8,250
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Il 54,458 48,683 5,775
= 7,780 6,955 825
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307 212+01 ™ 77,798 69,548 8,250
Il 54,458 48,683 5,775
= 7,780 6,955 825
i 15,560 13,910 1,650
02 QI F A2 X 77,798 69,548 8,250
OJISMg 77,798 69,548 8,250
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= 80,000 80,000 0
= 50,000 50,000 0
= 11,000 11,000 0
= 116,350 66,500 49,850
SR 4 2 2 257,350 207,500 49,850
= 80,000 80,000 0
= 50,000 50,000 0
= 11,000 11,000 0
= 116,350 66,500 49,850
WS e 2 22 76,350 26,500 49,850
201 gEt24Ed| 1,350 1,500 A 150
01 AR 2telH] 1,350 1,500 A 150
OFAGK AN #40 U YRS HE
1,350,000& 1,350 1,500 A 150
401 Al EHIZ 20hY| 50,000 0 50,000
01 Al€Hl 49,460 0 49,460
ONYNEH ARZ(BBH) &7
49,460,000& 49,460 0 49,460
03 A& 20 540 0 540
ONYNEH ARZ(BBH) &7
50,000,000& *1.08/100 540 0 540
HE2HZHI(S4)(J1EH/IIE 17,886 19,540 A 1,654
Jl=&Hl 17,886 19,540 A1,654
JI=&Hl 17,886 19,540 A 1,654
201 L2 7,326 8,140 A814
01 AtR2telH 7,326 8,140 A814
Ogt=2H| 7,326,000& 7,326 8,140 N814
202 044l 7,560 8,400 A 840
01 = LHAbI 7,560 8,400 N840
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SN

=R AFDH) (DIEH/JIEF)
ol 2 HH)
2SI (SI) - MIRALY - B S Abod 2
OSMSY(AH, MU, 998 &4 5)
7,560,000 7,560 840
] Yo Y44/ - 5E) 238,546 238,546
238,546 238,546
238,546 238,546
el 238,546 238,546
a3 145,433 0 145,433
EAE AR (ZYH)
14, 124,0002 14,124 0 14,124
ME YYD 48,1002 49 0 49
bEEe HEDY 122,868,0009 122,868 0 122,868
LH4-01 QIBARIE MK 8,392,0009 8,392 0 8,302
CES=FIE 93,113 0 93,113
= AR PEIN M 51,0002 51 0 51
INERE 22EER AL
2,665,8002 2,666 2,666
Z 40 AHYTIHH AL
7,471,5002 7,472 7,472
ABFENS ASY X
5,567,2002 5,568 5,568
EAE AR (ZYH)
4,973,0002 4,973 4,973
ZAE MAZH (HESIH) 6,000 6 6
AT S0 AAEAME P
5,020,0002 5,020 5,020
=42 2257 N 2,800,0002 2,800 0 2,800
IE2L S2EE X
1,169,2802 1,170 0 1,170
E4bs0F SHYR WA 1,302,308 1,303 0 1,303
JbEge ERY 61,434,0002! 61,434 0 61,434
LH4-01 QIBARIR MK 629,409 630 0 630
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